Applications of Quadratic Equations

&Section 6.8 l

Applications of Quadratic Equations
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1. If five is added to three times the@qiuare ofa numbe—r,\the result is sixteen times ths number, Find all such

numbers.
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¢ sum of the squares of two consecutive odd integers is nineteen more than the product of the integers. Find
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. The length of a rectangular garden is 2 ft more than the\ﬂl} If the area is 120 ft>, what are the dimensions of
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4. The base of a triangle is twice the height. If the area is 36 in’, find the base and the height. 5
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5. A bottle rocket is shot straight up into the air from the ground with an initial speed of 80 ft/sec. The height of
the bottle rocket (in feet) is given by the equation

h =—16t> + 80t

Find the time(s) when the bottle rocket is at ground level.
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where t is the time in seconds after the bottle rocket is shot into the air ('[ > 0).
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Pythagorean Theorem

Recall that a right triangle is a triangle that contains a 90" angle.

The Pythagorean theorem tells us that for a right triangle, the sum of the squares of the two legs equals the square

of the hypotenuse. [,\T\,»\Lg s an oo ﬁoV)
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For exercises 6 and 7, find the length of the missing side of the right triangle.
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8. The deck of a treadmill forms a right triangle with the floor. Find the length of the treadmill deck.

9. Find the height of the crane.
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